
  

 

 

B.A. DEGREE EXAMINATION —  
DECEMBER, 2019. 

Third Year 

Computer Applications 

BUSINESS ACCOUNTING SOFTWARE 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What is meat by ledger? How it is differ from 
journal? 

2. Briefly explain list groups in tally and its kinds. 

3. Define the term voucher receipt. How to create it. 

4. Distinguish between sales registers and purchase 
registers. 

5. Distinguish between inventory vouchers and 
inventory report. 

 UG–253 BBCA–35/
  BBAC–35
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. How to maintain stock details in an organisation 
with accounting software? 

7. Distinguish between Trial Balance and Balance 
sheet in accounting software. 

8. Distinguish between VAT and CST with activation 
and classification. 

9. What is TDS? Explain its configuration of Tally 
accounting software. 

10. How to register bank reconciliation statement in 
accounting tally software. 

11. Explain the accounting transactions are transfer 
between branches in an organisation. 

12. Discuss the concept of trial balance and balance 
sheet in tally accounting software. 

 

——––––––––– 



  

 

 

 

B.Com./B.B.A. DEGREE EXAMINATION –   
DECEMBER, 2019. 

Third Year 

Computer Applications  

BUSINESS INFORMATION SYSTEMS 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What is work force customer behaviors? State its 
importance? 

2. What are the factors influencing of management 
decision making? 

3. How to support Information systems in business? 

4. What is network model and its mechanism? 

5. Explain various classifications of software. 

 UG–252 BBCA-34/
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the overview of Information systems. 

7. Distinguish between data transformation and data 
management. 

8. Explain the components and structures of 
computer decision support systems (DSS). 

9. What are the Benefits of Enterprise Resource 
planning and its salient features. 

10. What is data base? Explain its necessity. 

11. Explain word processor with its mechanism. 

12. Define the term software. Explain its categories. 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER, 2019. 

Third Year 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What is Economic Order Quantity? How it is 
computed? 

 ]UPÚ öPõÒ•uÀ Bøn GßÓõÀ GßÚ? Ax 

GÆÁõÖ PnUQh¨£kQÓx? 

2. Calculate cost of production from the following 
detail : 

     Rs. 
 Direct material  20,000 
 Direct labour  8,000 
 Direct Expenses  1,000 
 Factory expenses 3,000 
 Administrative expenses 2,000 

 UG–233 BCS–33/
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 RÌ öPõkzxÒÍ Â£μ[PøÍU öPõsk 

AhUPÂø»ø¯ PnUQkP. 

     ¹. 

 ÷|μiU öPõÒ•uÀ 20,000 

 ÷|μiU T¼   8,000 

 ÷|μi ö\»ÄPÒ  1,000 

 öuõÈØ\õø» ö\»ÄPÒ 3,000 

 {ºÁõP ö\»ÄPÒ  2,000 

3. What are the various methods of pricing material 
issue? 

 ‰»¨ö£õ¸Ò Âø» Cku¼ß £À÷ÁÖ •øÓPÒ 

¯õøÁ? 

4. State the reasons for variation in Profits shown by 
Cost accounts and Financial accounts. 

 AhUP Âø» PnUQØS® {v PnUQ¯¾US® EÒÍ 

÷ÁÖ£õmiØPõÚ Põμn[PøÍ SÔ¨¤kP. 

5. Data relating to a job are as under : 

 Standard rate of wages per hour : Rs.10 

 Standard hours – 300 

 Actual rate of wages per hour : Rs.12 

 Actual hours – 200 
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 You are required to calculate : 
 (a) Labour cost variance 
 (b) Labour rate variance 
 (c) Labour efficiency variance. 
 RÌ öPõkzxÒÍ J¸ £o \®£¢u©õÚ Â£μ[PÒ : 

 uμ ÷|μ Ãu® : ¹.10 
 uμ Põ»® – 300 ©oPÒ 
 \›¯õÚ T¼ Âu® : ¹.12 per hour 
 GkzxU öPõsh Põ»® – 200 ©oPÒ 
 PnUQkP : 

 (A) EøÇ¨¦ AhUP ÷ÁÖ£õk 

 (B) EøÇ¨¦ Ãu ÷ÁÖ£õk 

 (C) EøÇ¨¦ vÓø© ÷ÁÖ£õk 

SECTION B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Calculate labour cost for the month of July 
relating to the workman from the following : 

 Basic pay Rs.200 p.m. 
 D.A. Rs.150 p.m. 
 Employer’s contribution to State Insurance 6% of 

Basic plus DA 
 Fringe benefits Rs.100 per mensum 
 Employee’s contribution to provident fund 5% of 

basic and DA 
 Employee’s contribution to State Insurance and 

Provident fund is equal to that of employer. 
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 £o¯õº J¸Á›ß áúø» ©õuzvØPõÚ EøÇ¨¦ 

AhUPzvøÚ PnUQhÄ® : 

 Ai¨£øh \®£Í® : ¹.200 p.m. 

 £g\£i : ¹.150 p.m. 

 £o AÎ¨£Á›ß Põ¨¥k £[PÎ¨¦ : 6% (Ai¨£øh 

\®£Í® + £iPÒ) 

 ÷©À Buõ¯® : ¹.100 p.m. 

 ÷\© |» {vUS £[PÎ¨¦ £o¯õÍ›ß \®£Í® + 

£iPÎÀ 5% 

 £o AÎ¨£Á›ß £[PÎ¨¦ ÷\©|» {v ©ØÖ® 

Põ¨¥k Cμsk® ÷\º¢u öuõøP BS®.  

7. From the particulars prepare the store ledger 
showing the pricing material issue, by adopting 
FIFO method, First-In-First-Out with base stock 
of 400 units out of Opening stock 

 2000  
Dec 1 Opening stock 1000 units at Rs.2 each 

  3 Purchased 800 units at Rs.2.10 each 

  5 Issued 800 units 

  12  Purchased 1600 units at Rs.2.10 each  

  17 Issued 1500 units 

  20 Purchased 900 units at Rs.2.50 each 

  25 Issued 600 units. 



 UG–233 5

 FIFO •øÓ°À ‰»¨ö£õ¸Ò ÷£÷μk u¯õ›UPÄ®. 

EÒ•uÀ öÁÎ •u¼ß Ai¨£øh°À Bμ®£ 

\μUQ¸¨¦ 400 A»SPÒ : 

 2000  
i\®£º 1 öuõhUP \μUQ¸¨¦ 1000 A»SPÒ  

  ¹.2 Ãu® 

  3 öPõÒ•uÀ 800 A»SPÒ ¹.2.10 

  5 öÁÎ±k 800 A»SPÒ 

  12  öPõÒ•uÀ 1600 A»SPÒ ¹.2.10  

  17 öÁÎ±k 1500 A»SPÒ 

  20 öPõÒ•uÀ 900 A»SPÒ ¹.2.50  

  25 öÁÎ±k 600 A»SPÒ. 

8. The sale and profit for 1996 and 1997 are as 
follows : 

    Sales  Profit 
      Rs.    Rs. 
  1996  1,50,000 20,000 
  1997  1,70,000 25,000 
 Find out: 
 (a) P/V Ratio 
 (b) BEP 
 (c) Sales for a profit of Rs.40,000 
 (d) Profit for sales of Rs.2,50,000 and 
 (e) Margin of safety at a profit of Rs.50,000.  
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 1996 ©ØÖ® 1997 B® BsiØPõÚ ÂØ£øÚ ©ØÖ® 

C»õ£® öPõkUP¨£mkÒÍÚ 

    ÂØ£øÚ C»õ£® 

      ¹.    ¹. 

  1996  1,50,000 20,000 

  1997  1,70,000 25,000 

 PnUQkP : 

 (A) P/V ÂQu® 

 (B) C»õ£ |mh ©ØÓ ¦ÒÎ 

 (C) C»õ£® ¹.40,000 ØPõÚ ÂØ£õÚ 

 (D) ¹.2,50,000 ÂØ£øÚUPõÚ C»õ£® 

 (E) C»õ£® ¹.50,000 UPõÚ £õxPõ¨¦ £Sv.  

9. The following details were obtained from the 
Tamilnadu Metal Co. Ltd. From these calculate 
the Overhead recovery rates. 

 Methods to be applied. 

 (a) Direct Labour hour 

 (b) Direct Labour Cost 

 (c) Machine hour rate 

  Estimated factory Overheads Rs.58,000 

  Estimated direct labour hours 1,34,600 hours 

  Estimated machine hours 50,000 hours 

  Estimated direct Labour cost Rs.97,500 
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 uªÌ|õk ö©mhÀ {ÖÁÚzvß ÷©Øa ö\»Ä v¸®£ 

QøhUS® \uÂPzøu PnUQkP. 

 (A) ÷|μi EøÇ¨¦ ©oPÒ 

 (B) ÷|μi EøÇ¨¦ AhUP® 

 (C) J¸ ©oUPõÚ ÂQu® 

  vmhªmh öuõÈØ\õø» ÷©Øa ö\»ÄPÒ 

¹.58,000 

  vmhªmh ÷|μi EøÇ¨¦ ©oPÒ 1,34,600  

  vmhªmh G¢vμ ©o ÷|μ® 50,000  

  vmhªmh ÷|μi EøÇ¨¦ AhUP® ¹.97,500 

10. From the following particulars of a manufacturing 

company, prepare a statement showing: 

 (a) Cost Materials used 

 (b) Prime cost 

 (c) Works Cost 

 (d) Cost of Production 

 (e) Percentages of general expenses to works 

cost 
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       Rs. 

  Stock of materials (01.01.2007) 25,000 

  Stock of finished goods (01.01.2007) 51,000 

  Purchase of materials  5,75,000 

  Purchase wages   3,90,000 

  Works Overhead   86,000 

  Office and general expenses 72,000 

  Stock of Materials (31.12.2007) 30,000 

  Stock of finished goods (31.12.2007) 48,000 

  Sale of finished goods  12,20,000 

 RÌ AÎzxÒÍ EØ£zv {Ö©zvß Â£μ[PÎ¼¸¢x 

‰»¨ö£õ¸Ò AhUP®, Ai¨£øh AhUP®, EØ£zv 

AhUP®, EØ£zv AhUPÂø» ©ØÖ® ö£õx 

ö\»ÄPÒ ©ØÖ® EØ£zv AhUP ÂQu[PÒ öPõsh 

AÔUøP u¯õ›UPÄ®. 

       ¹. 

  ‰»¨ö£õ¸Ò 1.1.2007  25,000 

  •ØÖa ö£ØÓ ö£õ¸ÒPÒ 1.1.2007 51,000 

  ‰»¨ö£õ¸Ò öPõÒ•uÀ  5,75,000 

  T¼     3,90,000 
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 ¹. 

  EØ£zv ÷©Øaö\»ÄPÒ  86,000 

  A¾Á»P ÷©Øaö\»ÄPÒ  72,000 

  ‰»¨ö£õ¸Ò 31.12.2007 30,000 

  •ØÖ¨ö£ØÓ ö£õ¸mPÒ 31.12.2007 48,000 

  ÂØ£øÚ    12,20,000 

11. The following information relating to Contract 

No.123. 

      Rs. 

  Contract Price 6,00,000 

  Wages  1,64,000 

  General expenses 8,600 

  Raw materials 1,20,000 

  Plant   20,000 

 As on date, cash received was Rs.2,40,000 being 

80% of work certified. The value of materials 

remaining at site was Rs.10,000. Depreciate plant 

by 10%. Prepare contract account showing profit to 

be credited to P and L a/c. 
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 J¨£¢u Gs 123&UPõÚ ÂÁμ[PÒ R÷Ç 

öPõkUP¨£mkÒÍx 

      ¹. 

  J¨£¢u Âø» 6,00,000 

  T¼   1,64,000 

  ö£õx ö\»ÄPÒ 8,600 

  ‰»¨ö£õ¸mPÒ 1,20,000 

  uÍÁõh[PÒ 20,000 

 ¹.2,40,000 öμõUP® ö£ØÓx (80% £o 

\õßÓÎUP¨£mkÒÍx). £o ChzvÀ «x•ÒÍ 

ö£õ¸mPÎß ©v¨¦ ¹.10,000. uÍÁõh[PÎß 

÷u´©õÚ® 10%. J¨£¢u PnUøP u¯õ›UPÄ®. 
÷©¾® C»õ£ |mhU PnUQØS ©õØÓ ÷Ási¯ 

C»õ£zvøÚ PnUQhÄ®. 

12. From the following information relating to X and 
Co ltd., you are required to find out: 

 (a) P/V Ratio 

 (b) BEP in rupees 

 (c) Profit 

 (d) Margin of safety 

 (e) Volume of sales to earn profit of Rs.6,000. 
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         Rs. 

   Total fixed costs  4,500 

   Total variable costs 7,500 

   Total sales   15,000 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 

 (A) C»õ£ AÍÄ ÂQu® 

 (B) C»õ£ |mh©ØÓ {ø»¨¦ÒÎ (¹£õ°À) 

 (C) C»õ£® 

 (D) AvP£m\ £õxPõ¨¦ 

 (E) ¹.6,000 »õ£® ÷Áskö©ÛÀ, ÷uøÁ¯õÚ 

ÂØ£øÚ BQ¯ÁØøÓ  X & Co Ltd., UPõP 

PnUQkP 

         ¹. 

   ö©õzu {ø»aö\»ÄPÒ 4,500 

   ö©õzu ©õÖ® ö\»ÄPÒ 7,500 

   ö©õzu ÂØ£øÚ  15,000 

  

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER 2019. 

Third Year 

COMMERCIAL LAW AND INDUSTRIAL LAW 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the types of Contract? 

 J¨£¢uzvß ÁøPPøÍ ÂÁ›. 

2. What is a Quasi control? 

 Aøμ J¨£¢u® GßÓõÀ GßÚ? 

3. What does the sale of goods act mean? 

 ö£õ¸mPÒ ÂØ£øÚ GßÓõÀ GßÚ? 

4. Write short notes on Factories Act 1948. 

  öuõÈØ\õø» \mh® 1948 £ØÓÔ ]Ö SÔ¨¦ u¸P. 

 UG–207 BCO-32/
  BBCA-32
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5. What is Employees State Insurance Act are 
explain benefits? 

 öuõÈ»õÍº ©õ{» Põ¨¥mk \mh® £ØÔ Auß 

|ßø©PøÍ ÂÁ›. 

PART B — (4 15 = 60 marks) 

Answer any FOUR questions. 

6. Difference between void and voidable contracts. 

 öÁØÔh ©ØÖ® öÁØÔh©õÚ J¨£¢u[PøÍ 

÷ÁÖ£kzxP. 

7. What is mean by breach of contract and its 
consequences? 

 J¨£¢uzvß «ÓÀ ©ØÖ® Auß ÂøÍÄPøÍ £ØÔ 

ÂÁ›. 

8. Difference between warranties and implied 
conditions. 

 EmöPõsh {ø» ©ØÖ® ÁõμõsiUS® EÒÍ 

÷ÁÖ£õkPÒ GßÚ? 

9. What are the Advantages and Disadvantages of 
Factories Act forming? 

 öuõÈØ\õø» \mh® £søn°ß |ßø© ©ØÖ® 

wø©PøÍ ÂÁ›. 
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10. What is the difference between first party and 
third party insurance? 

 •uÀ |£ºPÐUS® ©ØÖ® ‰ßÓõ® |£ºPÐUS® 

EÒÍ ÷ÁÖ£õkPøÍ GÊxP. 

11. What are the Workmen's compensation Act 1923 
in relating to Social Security? 

 öuõÈ»õÍº CÇ¨¥k \mh® 1923  öuõhº£õÚ \‰P 

£õxPõ¨¦PøÍ GÊxP. 

12. Explain the contract of agency. 

 {ÖÁÚ® J¨£¢u® £ØÔ ÂÁ›. 

_____________ 



 
 

  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

Third Year 

Computer Applications 

ADVANCED ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Kannan and Sundar share profits and losses in 
the ratio of 5:3. Madhavan joins on 1st April 2018. 

 The following revaluation were made: 

   Increase the value of building by Rs. 10,000 

    Raise goodwill for Rs. 16,000 

    Reduce the value of debtors by Rs. 2,000 

    Give the revaluation a/c and journal entries. 

2. XY Ltd forfeit 100 equity shares of Rs. 10 each 
issued at a discount of 10% for non payment of the 
1st call of Rs. 2 and final call of Rs. 3 per share. 
Out of these 50 shares were reissued at Rs. 8 per 
share. Pass journal entries.           

 UG–251 BBCA–31
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3. What are the various methods of purchase 
consideration? 

4. On 31st March 2018, B Ltd, finds its advanced 

classified as follows : 

 Rs. 

Standard assets                             14,91,000 

Sub-standard assets 92,800 

Doubtful assets (secured)  

Doubtful for one year 25,660 

Doubtful for one year to 3 years 15,640 

Doubtful for more than 3 years 6,580 

Loss assets 10,350 

 Calculate the amount of provisions to be made by 

the bank against the above mentioned advances. 

5. X purchased a typewriter on hire-purchase 

system. As per terms, he is required to pay Rs. 800 

down, Rs. 400 at the end of the first year Rs. 300 

at the end of the second year and Rs. 700 at the 

end of the third year. Interest is charged at  

5% p.a. Calculate the total cash price of the 

typewriter and the amount of interest payable on 

each installment. 
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SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. A&B were partners sharing profits and Loss in the 
ratio of 2 : 1. Their balance sheets as on 
31.12.2018 as under : 

Liabilities 
Amount 

Rs. 
Assets 

Amount 
Rs. 

Creditors 65,900 Cash 1,200

Capital A/c  Debtors 9,700

A      30,000  Stock 20,000

B      20,000  Machinery 35,000

 50,000 Buildings 50,000

 1,15,900 1,15,900

 They decided to admit 'C' as a partner for 1/3 
share in the profits of the firm subject to the 
following conditions: 

 (a) C should bring Rs. 15,000 as his capital. 

 (b) Value of stock and machinery to be 
depreciated by 10% 

 (c) Provision of 5% on sundry debtors to be 
created for doubtful debts  

 (d) Value of buildings be appreciated by  
Rs. 9,500 

  Pass the necessary ledger accounts. 
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7. Balance Sheet of X Ltd. as on March 31, 2015 : 
Liabilities Rs. Assets Rs. 

Share capital : Issued, subscribed 
and fully paid up 10,000 equity 
shares of Rs. 100 each 10,00,000

Fixed Assets
Current Assets

22,00,000
8,00,000

5,000 Pref. shares of Rs. 100 each 5,00,000  

Capital Reserve 1,00,000  

Securities Premium 1,00,000  

General Reserve 2,00,000  

Profit & Loss a/c 1,00,000  

Current Liabilities 10,00,000  

 30,00,000  30,00,000

 The preference shares are to be redeemed at 10% 
premium. Fresh issue of equity shares is to be 
made to the extent required under the Companies 
Act for the purpose of this redemption. The short 
fall in funds for the purpose of redemption after 
utilizing the proceeds of the fresh issue are to be 
met by taking a bank loan. Show journal entries. 

8. A company was incorporated on 30th June 2015 to 
acquire the business of Mohan as from 1st January 
2015. The accounts for the year ended 31st Dec. 
2015 disclosed the following : 

 (a) There was a gross profit of Rs. 2,40,000. 
 (b) The sales for the year amounted to  

Rs. 12,00,000 of which Rs. 5,40,000 were for 
the first six months.  

 (c) The expenses debited to profit and loss 
account included : 

 Rs. 
Directors fees 15,000
Bad debts 3,600
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 Rs. 
Advertising (Under a monthly 
contract of Rs. 1,000) 

12,000

Salaries 64,000
Preliminary expenses written off 5,000
Donation to political parties given by 
the company 5,000

  Prepare a statement showing profit made 
before and after incorporation. 

9. The following is the balance sheet of X Ltd. as on 
31.3.2018. 
Liabilities Amount 

(Rs.) 
Assets Amount

(Rs.) 
Share capital 2,00,000 
shares of Rs. 10 each 20,00,000

Land and Buildings 
Plant and Machinery

10,00,000
15,00,000

General Reserve 2,50,000 Furniture 25,000
Dividend equalization 
reserve 2,00,000

Stock 
Work in progress 

6,00,000
3,00,000

Profit and Loss a/c 51,000 Sundry debtors 2,50,000
12% Debentures 10,00,000 Cash at bank 1,26,000
Sundry creditors 3,00,000  
 38,01,000  38,01,000

 The company absorbed by A Ltd. on the above 
date. The consideration for the absorption is the 
discharge of the debentures at a premium 5%, 
taking over the liability in respect of sundry 
creditors and a payment of Rs. 7 in cash and one 
share of Rs. 5 in A Ltd. At the market value of  
Rs. 8 per share for every share in X Ltd. The cost 
of liquidation of Rs. 15,000 is to be met by the 
purchasing company. Close the books of X Ltd. 
Pass journal entries in the books of A Ltd. 
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10. The following particulars relate to a limited 
company which went into liquidation : 

 Preferential creditors Rs. 25,000 

 Unsecured creditors Rs. 58,000 

 6% debentures  Rs. 30,000 

 The assets realized Rs. 80,000. The expense of 
liquidation amounted to Rs. 1,500 and the 
liquidator’s remuneration was agreed at %2 2

1  on 

the amount realized and 2% on the amount paid to 
unsecured creditors including preferential 
creditors. Show the liquidator’s final statement of 
account. 

11. Arun keeps his records under single entry system. 
Assets and Liabilities on 31.12.2000 stood as 
follows : 

 Cash Rs. 10; Bank balance Rs. 990; Stock  
Rs. 7,000; Sundry Debtors Rs. 15,000; Furniture 
Rs. 3,000; Sundry creditors Rs. 3,000. 

 Assets and Liabilities in his books showed the 
following figures as on 31.12.2001. 

 Cash Rs. 2,000; Bank balance Rs. 10,000; Stock 
Rs. 10,000; Sundry debtors Rs. 20,000; Furniture 
Rs. 3,000; Sundry creditors Rs. 6,000. 

 He introduced an additional capital of Rs. 3,000 
during 2000–01. He withdrew Rs. 7,000 for his 
domestic purpose. Find out the profit. 
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12. The Madras Trading Co., purchased a motor car 
from Bombay Motor Co. on hire purchase 
agreement on 1/1/1980, paying cash Rs. 10,000 
and agreeing to pay further three installments of 
Rs. 10,000 each on 31st December each year. The 
cash price of the car is Rs. 37,250 and the Bombay 
Motor Co., charges interest at 5% p.a. 

 The Madras Trading Co. writes off 10% p.a. as 
depreciation on the reducing balance method. 
Journalize the above in the books of both the 
parties. 

——————— 




